Efficiency vs Dxy(PV)

Ratio
v

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__original
—— DQM_TT__detQ0_PU
[Efficienc]| —— DQM_TT__detQ1_PU

H \||| |

TP dxy |5V) '(cm)

: ||||||! HIIII!PHIIIIIIIII || ;
R

Efficiency vs Dz(PV)

< 0.5

efficiency vs dz(PV,
o o
w © »
E

o
w O
T

0.25F
0.2
0.15F :
0f---- g T2
0.05F

Ratio

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

0.95

Efficiency vs Dz(PV)

< 0.5

efficiency vs dz(PV
o o
© w 9 n
w b U

0.25F fHl-1-

Ratio
v

o -05 0 05 1
TP dz(PV) (cm)



	Contents
	Page 1


